Name: ______________________________________________________ Date: ________

A2:  January 2010 Exam Review

Section 1:  Probability Questions 

1.
The probability of the complement of an event is ____ less than the probability of the event itself.

	a.
	sometimes
	b.
	always
	c.
	never



2.
You pick a number between 1 and 10. Then you roll 2 dice. Are the events dependent or independent? Explain.

3.
Suppose you roll a standard number cube once. Are rolling a 1 and rolling a 6 mutually exclusive events? Explain.

4.
Lynn and Dawn tossed a coin 40 times and got heads 24 times. What is the experimental probability of tossing heads using Lynn and Dawn’s results?
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5.
This is a spinner used in a board game. What is the probability that the spinner will land on a multiple of 3 and 4?


6.
A bag contains 6 red marbles, 6 white marbles, and 3 blue marbles. Find P(red or blue).

7.
In how many different orders can you line up 6 cards on a shelf?

8.
Verne has 8 math books to line up on a shelf. Jenny has 5 English books to line up on a shelf. In how many more orders can Verne line up his books than Jenny?

9.
Evaluate 9!

10.
Evaluate [image: image1.png]




11.
Evaluate [image: image2.png]




12.
There are 7 students participating in a spelling bee. In how many ways can the students who go first and second in the bee be chosen?

13.
In how many ways can 8 singers be selected from 10 who came to an audition?

14.
Find P(Q and R):  P(Q) = 0.47, P(R) = 0.13
15. Find P(S or T ) P(S) = [image: image3.emf]1

9

, P(T) = [image: image4.emf]2
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16. The table shows the results of a survey of students in two math classes.
Find P(more than 1 hour of TV | 6th period class). Round to the nearest thousandth.

Did You Watch More Than One Hour of TV Last Night?

	
	Yes
	No

	3rd period class
	9
	6

	6th period class
	15
	8


17. Use the frequency table. Find the probability that a person goes to the movies at least 8 times a month. Round to the nearest thousandth.

	Trips to the Movies
	

	Number of Movies
	Number of Moviegoers

	More than 7 movies per month
	131

	5–7 movies per month
	174

	2–4 movies per month
	263

	Less than 2 movies per month
	222

	Total
	790



18.
The probability that a city bus is ready for service when needed is 85%. The probability that a city bus is ready for service and has a working radio is 69%. Find the probability that a bus chosen at random has a working radio given that it is ready for service. Round to the nearest tenth of a percent.

19.
Teesha is in the French club. There are 40 students in the club. The teacher will pick 5 students at random to guide visiting students from France. What is the probability that Teesha will not be picked as a guide?

20.
A cell phone company orders 350 new phones from a manufacturer. If the probability of a phone being defective is 2.1%, predict how many phones are likely to be defective. Round to the nearest whole number.

21.
A yogurt shop offers 6 different flavors of frozen yogurt and 9 different toppings. How many choices are possible for a single serving of frozen yogurt with one topping?

22.
Each of four friends orders a sweatshirt from a catalog. There are 14 colors of sweatshirts, 6 of which are all cotton and 8 of which are a blend. Each one orders a different color (no repeats) at random. What is the probability that the friends order only cotton sweatshirts?
23. Explain how to determine when combinations should be used and when permutations should be used.
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Use the Venn diagram to the right to answer each Probability:

24.  P(English)
25. P(chemistry and not English)

26. P(Chemistry and English)

27. P(Chemistry or not English)

28. P(Chemistry or English)

29. P(not Chemistry or not English)

30. A survey was given to 150 students asking preference of baseball teams, the Detroit Tigers or Boston Red Sox’s.  Sixty-two prefer the Tigers, twenty-one prefer the Red Sox, and three prefer both.    Make a Venn diagram to represent this situation.

Section 2:  Statistics Questions 

31.
A set of data ____ has one and only one mode.

	a.
	always
	b.
	sometimes
	c.
	never



32..
The median of a set of data is ____ equal to the third quartile.

	a.
	always
	b.
	sometimes
	c.
	never


33.
Find the mean, median, and mode:  15, 13, 9, 9, 7, 1, 11, 10, 13, 1, 13

             34.
Make a box-and-whisker plot of the data:  24, 18, 29, 21, 16, 23, 13, 11

35.
Find the 20th and 70th percentiles: 18, 9, 7, 5, 11, 7, 17, 20, 19, 2, 17, 12, 5, 1, 13, 12, 11, 15, 16, 20

36.
10, 10, 10, 12, 14, 16, 16, 18, 18, 18:  The number 12 is at what percentile?  16 is at what percentile?
37.
Find the outlier in the set of data:  17, 13, 16, 18, 38, 14, 21, 24

38.
Find the range and interquartile range :  178, 189, 116, 141, 253, 235, 317

39.
Find the variance and standard deviation of the data set. Round to the nearest tenth:  7, 8, 4, 10, 6, 10

40.
A set of data has mean 67 and standard deviation 4. Find the z-score of the value 68.
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41.
The bar graph shows the rents paid per month for apartments in an urban neighborhood. The curve shows that the rents are normally distributed. Estimate the percent of residents who pay $600 to $749 per month.

42.
A set of data with a mean of 56 and a standard deviation of 3.3 is normally distributed. Find the values that are 2 standard deviations from the mean.

 43.
The scores on an exam are normally distributed, with a mean of 77 and a standard deviation of 10. What percent of the scores are greater than 87?
44.
Find the mean and standard deviation: 20, 16, 18, 14, 9, 20, 16
The number of text messages ten students sent in one day is shown in the box and whisker plot below.  Use this to answer questions 45-51
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45. What is the minimum number of text messages sent?

46. How many text messages are at the 25th percentile?

47. According to the graph, between what two numbers does half the data lie? 

48. How many students send more than 12 text messages a day?

49. How many students send less than 8 text messages a day?

50. What is the range of the scores?

51. What is the interquartile range?

The box-and-whisker plot below represents the test scores for students in two different classes.  Use the data to answer questions # 52-54
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52. Which Class has more consistent grades?  Why?  

53. Which class has a higher average?  Why?

54. Which class has more variability?  Why?

Section 3:  Linear Questions
55.
Graph the equation [image: image5.png]y=-sx+l
S



.

56.
Graph the equation –3x – 4y = 12. 



 57.
Find the x- and y- intercepts & graph [image: image6.png]bx + fiy = 30



.

58.
Find the slope of the line through the pair of points: (11, –1) and (–12, –6)

59.
Write an equation in standard form, for the line with slope = 8, that passes through (–5, –4)

60.
Find the slope of the line:     n         [image: image7.png]7
y=-txss
Txv




 
61.
Find the slope of the line:     [image: image8.png]-x + 4y
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            62.    Find the slope of the line
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63.  
Find the slope of the line x = 5

64.
Find an equation for the line through (4, –8) and horizontal.
 
65.
Find an equation for the line through (–7, –3) and vertical.

 
66.
Graph the set of data. Decide whether a linear model is reasonable. If so, draw a trend line and write its equation:  {(1, 7), (–2, 1), (3, 13), (–4, –3), (0, 5)}
 
67.
Solve the system [image: image10.png])
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68.
Solve the system [image: image11.png]




69.
A rental car agency charges a flat fee of $26.00 plus $1.75 per day to rent a certain car. Another agency charges a fee of $24.75 plus $2.00 per day to rent the same car.

	a.
	Write a system of equations to represent the cost c for renting a car at each agency for d days.

	b.
	Using a graphing calculator, find the number of days for which the costs are the same. Round your answer to the nearest whole day.


70. A group of 33 people attended a ball game. There were twice as many children as adults in the group. Set up a system of equations that represents the numbers of adults and children who attended the game and solve the system to find the number of children who were in the group.

71. Four hundred tickets were sold for a school play, for a total of $1025.  Adults were charged $3.50 and students $2.00, how many adults and how many students attended? 


Section 4:  Solving Equations

72.
Solve [image: image12.png]




73.
Solve [image: image13.png]6(x - 0.8) - 02(5x-4) = 6




74. Solve [image: image14.png][3x+ 5 = 1




75. Solve:  |x| + 2 = 7
75. Solve -[image: image15.png]IBx+4|-T =5




76. Solve: 4 – 2│x + 9│ = -5
77. Solve:  │2x – 5│> 3
78. Solve:  |x – 4| < -20
79. Solve:  5|x – 2| + 1> 16
76. Solve [image: image16.png]5 = 5r%



, for t


Section 5:  Polynomial Functions
77. Classify:  6m5 – 7m2

78. Classify:  5x2 – 3x + 12
79. Classify:  12r4
80. write in standard form:  (3x2 – 6x + 9) + (4x2 – 3x – 15)
81. write in standard form: (4w5 – 8w2 – 10) – (3w5 + 4w4 + 2w – 1)
82. write in standard form: (2x + 5)(x2 – 3x + 7)  
83. write in standard form: 6e(2e3 – 5e + 9)
84. write in standard form: (2x – 5)(3x – 6)
85. write in standard form: (m – 7)2(m + 3)
Section 6:  Function Questions
86. Answer all 8 function questions for each graph.  

1.  Is it a function?  Explain



2.  What is the domain?  The range?



3.  Intervals of increasing & Decreasing


4.  x- and y- intercepts





5.  End behavior (as x approaches +/- infinity)

6.  Critical Points (max vs. min, abs. vs. rel.)


7.  zeros.





8.  Is the inverse a function? 
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